Welland Gouldsmith School
Class- 1

Arithmetic Answer Key

1. There are 19 mangoes and 10 oranges in a basket. How many fruits are there altogether?

TO
No.of mangoes in a basket 19
No.of oranges in a basket + 10
Total no .of fruits altogether 29

Ans. There are 29 fruits altogether

2. Raj has 26 red pens and 13 blue pens . How many pens does Raj have altogether?

TO
No.of red pens 26
No.of blue pens + 13
Total no.of pens altogether 39

Ans. Raj has 39 pens altogether.

3. There are 51 roses and 37 tulips in a garden. How many flowers are there altogether?

TO
No.of roses 51
No.of tulips + 37
Total no.of flowers altogether 88

Ans. There are 88 flowers altogether

4. 142 boys and 246 girls are playing in a field. How many children are there in all?
HTO
No.of boys playing in the field 142
No.of girls playing in the field  + 246
Total no.of children playing 388

Ans. There are 388 children playing in the field

5. Sara has 425 cats and 131 dogs . How many pets does she have in all?

HTO



No.of cats Sara has
No.of dogs she has
Total no.of pets Sara has

Ans. Sara has 556 pets in all.



